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mPp ek/;fed ijh{kk ekWMy iz'u&i= 2021 

SENIOR SECONDARY EXAMINATION, 

MODEL QUESTION PAPER-2021

ys[kk'kkL= 

ACCOUNTANCY

le;% 3¼ ?k.Vs iw.kkZd 80 

ijh{kkfFkZ;ksa ds fy, lkekU; funZs'k %& 

GENERAL INSTRUCTION TO THE EXAMINEES: 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[ksaA

Candidate must write first his/her Roll No. on the question paper compulsorily.

2- lHkh iz'u djus vfuok;Z gSA

All the questions are compulsory.

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA

Write the answer to each question in the given answer book only.

4- ftu iz'uksa esa vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA

For questions having more than one part the answers to those parts are to be written

together in continuity.

5- iz'u i= ds fgUnh ij vaxzsth :ikUrj.k esa fdlh izdkj dh =qfV@vUrj@fojks/kkHkkl gksus ij

fgUnh Hkk"kk ds iz'u dks lgh ekusaA 

If there is any error/difference/contradiction in Hindi & English version of the question 

paper, the question of the Hindi version should be treated valid.   

6- (i) ;g iz'u i= nks [k.Mksa esa foHkDr gS (ii) [k.M ^v* lHkh Nk=ksa ds fy, vfuok;Z gS (iii) )
[k.M ^c* ds nks Hkkx gSA izR;sd Hkkx esa 7 iz’u gSA ijh{kkFkhZ dks fdlh ,d Hkkx ds lHkh 7 iz’uksa dks

gy djuk gSA

(i) This question paper contains two section- A and B

(ii) Section A is compulsory for all candidates.

(iii) Section B has two portions. Every portion has a set of 7 questions. Candidate can

attempt only a set of 7 questions of any one portion.

7- [k.M iz’u la[;k vad izR;sd iz’u 

  v 1 (i to x) 1 

2-8 1 

9-15 2 

16-18 4 

19 5 

20-21 6
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      Ck  22&24     1 

   25     2 

   26     4 

   27     5  

   28     6 

     vFkok  

   22&24     1 

   25     2 

   26     4 

   27     5  

   28     6 

 

Section  Q. Nos.   Marks per question  

A  1 (i to x)     1 

   2-8     1 

   9-15     2 

   16-18     4 

   19     5 

   20-21     6 

    B  22-24     1 

   25     2 

   26     4 

   27     5  

   28     6 

        Or 

   22-24     1 

   25     2 

   26     4 
   27     5  
   28     6  

8- iz’u la[;k 21 o 22 ¼[k.M&v½ rFkk iz’u la[;k 28 ¼[k.M&c½ esa vkUrfjd fodYi gSA  

There are internal choices in Q.No. 21 and 22. (Section-A) and Q.No. 28 (Section-B).  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     Section : A  
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1-  cgqoSdfYid iz'u (Multiple Choice Questions)     1 X10 = 10 

(i) lk>snkjh lays[k ds vHkko esa & 

¼a½ i¡wth ij C;kt fn;k tk;sxk ¼b½ vkgj.k ij C;kt pktZ fd;k tk;sxk 

¼c½ osru fn;k tk;sxk ¼d½ ykHkksa esa fgLlk fn;k tk;sxk 

    In absence of partnership deed: 

 (a) Interest on capital is given        (b) Interest on drawing is charged  

 (c) Salary is given                (d)  Provided share in profits  1 

    (ii) vkgj.k ij C;kt QeZ ds fy, ------------------------ gSA  

¼a½ vk; ¼b½ O;; 

¼c½ vk; o  O;; nksuksa ¼d½ buesa ls dksbZ ugha 

      Interest on Drawings is ---------- for firm: 

 (a) Income     (b) Expenses         

(c) Income and Expense both       (d) none of these     1 

  (iii) A o B cjkcj ds lk>snkj gS ftudh iw¡th Øe'k% :i;s 16000 o :i;s 12000 gSA C ¼  

fgLls ds fy, izos'k djrk gS o :i;s 15000 iw¡th ds ykrk gSA rks QeZ dh [;kfr dk ewY; gksxkA 

 (a)  ` 60,000    (b)  `11200  

(c)  ` 17000    (d)  ` 43000      

A and b are equal partners with the capital of  ` 16000 and  ` 12000. C a new partner comes 

in for ¼ share and brings capital  ` 15000. Find the value of the firm's goodwill? 

 (a)  ` 60,000    (b)  `11200  

(c)  ` 17000    (d)  ` 43000     1 

(iv) X o Y QeZ esa 3%2 ds vuqikr esa lk>snkj gSA os  Z dks 
1
@3 fgLls ds fy, izos'k nsrs gS rks 

mudk R;kx vuqikr gksxk & 

 (a) 2:3     (b) 3:2    

(c) 2:1     (d) 1:1       

X and Y are partners sharing profits in ratio of  3:2 . They admit Z for 1/3 share in profits. 

The sacrifice ratio of X and Y is: 

 (a) 2:3     (b) 3:2    

(c) 2:1     (d) 1:1      1 
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(v) A B o C 2%2%1 ds ykHk ckVrs gq, lk>snkj gSA B ds vodk'k xzg.k djus ij [;kfr dk 

ewY;kadu :i;s 30000 ij fd;k tkrk gS rks B dh {kfriwfrZ ds fy, A o C va'knku djsaxs  

  (a)  ` 20,000 o ` 10,000     (b)  ` 8,000 o  ` 4,000    

  (c) dksbZ va'knku ugha djsxs  (d)  ` 15,000 o  ` 15,000     

 A, B and C are partners sharing profits in the ratio of 2:2:1. On retirement of B, goodwill 

was valued at ` 30,000. Find the contribution of A and C to compensate B: 

  (a)  ` 20,000 and ` 10,000     (b)  ` 8,000 and  ` 4,000    

  (c) No contribution     (d)  ` 15,000 and  ` 15,000    1 

(vi) fpðs ds lerk ,oa nkf;Ro ds Hkkx dh dqy jkf'k esa lfEefyr gksrh gS  

(a) vf/kd`r iw¡th   (b) fuxZfer iw¡th 

 (c) izkfFkZr iw¡th    (d) pqdrk iw¡th      

 Total amount of Equity and Liabilities part includes the followings : 

 (a) Authorized Capital  (b) Issued Capital   

 (c) Subscribed Capital    (d) Paid up Capital      1 

(vii) _.ki=ksa ds leikf'oZd izfrHkwfr ds :i esa fuxZeu dh fLFkfr esa ;fn izfof"V dh tkrh gS rks 

fdl [kkrs dks ukes fd;s tk;sxkA 

 (a) _.k [kkrk    (b) _.ki= [kkrk 

 (c) _.k i= mpUr [kkrk  (d) cSad [kkrk      

In case of issue of debentures given as collateral security, if on entry is passed, which 

account will be debited : 

 (a) Loan Account   (b) Debentures Account  

 (c) Debenture Suspense Account (d) Bank Account    1  

(viii) la;qDr lkgl ds O;kikfjd Lo:i dk uke gS %& 

(a) lk>snkjh laLFkk   (b) lgdkjh  lfefr 

(c) O;fDr;ksa dk lewg    (d)  ,dkdh O;kikjh     

 What is the name of trade structure of Joint-Venture- 

(a) Partnership    (b) Co-operative society 

(c) Group of people     (d) Sole trader     1 

(ix) lg&lkglh }kjk izkIr fcy cSd ls Hkqukus ij fn;s tkus okys cÍs dks  ukes fd;k tkrk gS %&  

(a) cÍs [kkrs esa    (b) la;qDr lkgl [kkrs esa   

(c) cSad [kkrs esa    (d) lg&lkglh ds [kkrs esa    
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On discounting bill from the Bank by Co-Venturer discount is debited to- 

(a) Discount A/c    (b) Joint Venture A/c 

(c) Bank A/c     (d) Co-Venturer A/c    1 

(x) ;fn LVs'kujh dk izkjfEHkd LVkWd ` 5]000] vfUre LVkWd ` 3]000] o"kZ ds nkSjku LVs'kujh 

udn [kjhnh `- 20000 bl O;ogkj dks izkfIr o Hkqxrku [kkrs esa fdl izdkj fn[kk,axsA  

 (a)  Hkqxrku i{k esa ` 22]000  (b) Hkqxrku i{k esa ` 20]000 

 (c) Hkqxrku i{k esa ` 28]000                 (d) mijksDr esa ls dksbZ ugha    

Opening stock of stationary at the beginning is  `  5,000. at the end ` 3,000. Stationary 

purchased for cash during the year for ` 20,000. How this transcation will be dealt with 

in Receipts and Payments Account? 

 (a)  Payment side ` 22,000  (b) Payment side ` 20,000        

 (c) Payment side ` 28,000                 (d) None of the above    1 

 

iz'u la[;k 2 ls 6 rd iz'uksa ds mŸkj ,d 'kCn@,d iafDr esa nhft, %&           1 X5 = 5 

 2. jke ';ke o eksgu 4%3%2 ds vuqikr esa ykHk foHkktu djrs gSA jke vodk'k xzg.k djrk gSA 

';ke o eksgu dk u;k ykHk foHkktu vuqikr 2%1 gSA Qk;ns dk vuqikr Kkr djksA      

             

 Ram, Shyam and Mohan are partners in a firm sharing profits in the ratio of 4:3:2. Ram 

retires and new profit sharing ratio of Shyam and Mohan will be 2:1. Calculate Gain ratio.     

             1

   

3.  vodk'k xzg.k fd;s tkus ds dksbZ nks rjhds crkb;s \      

 State any two modes of retirement?       1 

 

4.  dEiuh vf/kfuf;e 2013 ds vUrxZr D;k ,d dEiuh vius va'k cÍs ij fuxZfer dj ldrh gS \ 

   Under the Companies Act, 2013, can a company issue its shares at discount?  1  

 

5.  lafpr iwath ls D;k vk'k; gS \        

    What is meant by Reserve Capital?       1 

 

6.  Lej.kkFkZ la;qDr lkgl [kkrs dh izd`fr fdl izdkj dh gksrh gS \    

 What is the nature of Memorandum Joint Venture Account?    1  

 

fjDr LFkku dh iwfrZ dhft, & iz'u la[;k 7 o 8          1 X 2 = 2 
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7. la;qDr lkgl dk likiu ------------------------------ gksrk gSA      

 When dissolution of joint venture ……………. happens?     1 

 

8. izkfIr o Hkqxrku [kkrs esa ---------------------------------- ens fn[kkbZ tkrh gSA    

 In Receipts and Payments Account---------------- items are shown.    1 

 

9. vfuy o lquhy dh lek;ksftr iw¡th Øe'k% :i;s 60000 o :i;s 50000 gSA deys'k dks ykHkks a esa 

¼  fgLls ds fy, :i;s 50000 iw¡th ykrk gSA [;kfr dh x.kuk dhft,A   

 Adjusted capital of Anil and Sunil is ` 60,000 and ` 50,000 respectively.  Kamlesh brings in 

` 50,000  as capital for ¼ share of profits in the firm. Calculate value of goodwill.  2  

 

10. X Y o Z lk>snkj gS vksj ykHkkas dks 3%2%1 ds vuqikr esa ckVrs gS 10 vizsy 2019 dks X dh èR;q 

gks x;h o"kZ 2018 dh fczdh o ykHk Øe'k ` 2]00]000 o ` 20000 Fks  1-1 2019 ls 10-04-2019 rd 

dh fcØh ` 1]20]000 FkhA X ds ykHk dk fgLlk Kkr dhft, ,oe~ tuZy izfof"V dhft,A 

    

 X, Y and Z are partners sharing profits in the ratio 3:2:1. X died on 10-4-2019. The sales and 

profits for 2018 were ` 2,00,000 and ` 20,000 respectively, sales from 1-1-19 to 10-4-19 

was ` 120000. Find the share of X’s profit and given journal entry .       1+1= 2 

11. lqfer fy- us ` 500000 dh e'khu gjh'k ls [kjhnhA 50% Hkqxrku pSd }kjk fd;k x;k rFkk 

'ks"k jkf'k ds fy, dEiuh us lerk va'k ` 10 okys 20% izhfe;e ij fuxZfer fd,A mijksDr 

O;ogkjkas dh lqfer fy- dh iqLrdkas esa vko';d tuZy izfof"V;k¡ nhft,A 

Sumit Ltd. Purchased a machine of ` 5,00,000 from Harish. 50% of the payment was made by 

cheque and for the remaining the company issued equity shares of ` 10 each at a premium of 

20%. Give necessary journal entries in the books of Sumit Ltd. for the above transactions.         

                                                                                                               2

  

12. tc la;qDr lkgl dh i`Fkd&ìFkd iqLrds j[kh tkrh gS rks dkSu&dkSu ls [kkrsa [kksys tkrs gS \ 

uke crkb;s A          

  When separate books of Joint Venture are kept, which types of accounts are opened? Give 

Names.           2  

 

13. fuEukafdr lwpukvksa ls pUns dh jkf'k 31-3 2019 dks cuk;s tkus okys vk;&O;;  [kkrk o fpÍs 

esa fdl izdkj fn[kk;saxs\  
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                   Receipts              Amount                 Payments  Amount  

   Advance Subscription  

 2017-18 15,000 

 20186-19 2,00,000 

 2019-20 10,000     2,25,000 

 laLFkk esa 1]800 lnL; gS ftlesa  ` 150 okf"kZd pUnk fy;k tkrk gSA 31 ekpZ 2018 dks cdk;k 

pUnk ` 21]000 FkkA   

Following information related to subscription. Show how it will be shown is Income and 

Expenditure Account for the year ended 31st March, 2019 and Balance sheet on that date 

             Receipts   Amount   Payments  Amount  

   Advance Subscription  

 2017-18 15,000 

 2018-19 2,00,000 

 2019-20 10,000  2,25,000 

 There are 1800 members of the institution from which `150 annual subscription per member 

is taken outstanding subscription for the year ended 31st March, 2018 was  ` 21,000. 2  

 

14. QuhZpj dk iqLrd ewY; 01-04-2019 dks  ` 1]00]000 gS vk/kk QuhZpj izkjfEHkd iqLrd ewY; ls 

20% gkfu ij 30-09-2019 dks csp fn;k QuhZpj ij 10% okf"kZd nj ls ewY; gkl yxk;k tkrk 

gSA 31-03-2020 dks cuk;s tkus okys vk;&O;; [kkrk ,oa ml fnu ds fpës esa mDr enksa dks fdl 

izdkj fn[kk;k tk;sxk \         

   

Book-value of furniture on 1-4-19 is  ` 1,00,000. Half of the furniture is sold at a loss of 20% 

on opening book value on 30-09-19. Furniture is depreciated @ 10% p.a. How above items 

will be shown in Income and Expenditure Account and in Balance Sheet on that date 31-03-

2020 ?            1+1= 2  

 

15. fuEukafdr lwpukvksa ls izkfIr ,oa Hkqxrku [kkrk 31ekpZ 2019 dks lekIr gksus okys o"kZ dk 

cukb;sA 

          ` 

 izkjfEHkd jksdM+ 'ks"k       5,000 

 nku izkIr fd;k        25,000 

 pUnk izkIr fd;k       50,000 
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 fctyh fcyksa dk Hkqxrku fd;k      10,000 

 fdjk;k :- 500 ekfld o"kZ ds nkSjku 11 ekg dk Hkqxrku fd;k 

 dEI;wVj uxn esa Ø; fd;k      25,000 

 ekuns; Hkqxrku        9,500   

 Prepare Receipts and Payments Account for the year ending 31st March, 2019 from 

the following information. 

          ` 

 Cash-in-hand opening       5,000 

 Donation received       25,000 

 Subscription received       50,000 

 Paid for electricity bill      10,000 

 Rent ` 500 p.m., actually paid for 11 month during the year 

 Purchase of computer in cash      25,000 

 Honorarium paid        9,500  2 

 

16. ih D;w rFkk vkj ,d QeZ esa lk>snkj gSA 31 ekpZ 2019 dks muds iw¡th [kkrs Øe'k% ` 90000 

` 45000 ` 45000 FksA lk>snkjh lays[k dh O;oLFkkuqlkj ¼1½ vkj- dks ` 9000 izfr o"kZ ikfjJfed 

fn;k tkuk Fkk ¼2½ iw¡th ij 5 izfr'kr izfr o"kZ dh nj ls C;kt fn;k tkuk FkkA ¼3½ ykHkkas dks 2%2%1 

ds vuqikr esa ckVk tkuk FkkA mi;qZDr enks ij /;ku u nsrs gq, 31-03-2019 dks lekIr gksus okys 

o"kZ ds fy;s ` 54000 ds 'kq) ykHk dks rhuksa lk>snkjksa esa leku :i ls ckaV fn;k x;kA v'kqf) ds 

lq/kkj gsrq ,d lek;ksftr izfof"V dhft,A dk;Z'khy fVIi.kh n'kkZb;sA      

P, Q and  R are partners in a firm. Their capital accounts stood at  ` 90,000, ` 45,000 and  ` 

45,000 respectively on 31st March,  2019. 1. R was to be allowed a remuneration of  ` 9000 

p.a.. 2. Interest at 5% p.a. was to be provided on capitals 3. Profits were to be divided in the 

ratio of 2 : 2 : 1. Ignoring the above items, net profit of  ` 54000 for the year ended 

31.03.2019. It was divided among the three partners equally. Make journal entry for 

rectification and show workings.        4  

 

17.  A B o C lk>snkj FksA B ds }kjk 31 ekpZ 2016 dks vodk'k xzg.k djus ij lHkh lek;kstuksa 

ds ckn iw¡th [kkrs dk ØsfMV 'ks"k ` 50000 fn[kk;k x;kA ;g r; gqvk fd 10 izfr'kr okf"kZd nj 

ij ` 12000 izfro"kZ thouksijkUr okf"kZdh nh tk;sA nwljh okf"kZdh ds Hkqxrku ds rqjUr ckn B dh 

e`R;q gks tkrh gSA B dk okf"kZdh [kkrk cukb;sA       

 A, B and C were partner in a firm. B retires on 31-03-2016 and his capital account shows a 

credit balance of  ` 50,000 after all adjustments. It is decide that the life annuity of  ` 12,000 

per annum with 10% interest p.a. assuming that the annuitant passes away immediately after 

payment of the second annuity.        4 
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18. O;kikfjd laLFkkvksa ,oa xSj&O;kikfjd laLFkkvksa esa vUrj ds dksbZ 4 fcUnq crykb,A   

 Write any four difference between commercial organizations and non commercial 

organizations.          4  

  

19.  vtesj ds A vkSj vkxjk ds B p.Mhx<+ ds C dks isz"k.k ij 100 xkBas mudh la;qDr tksf[ke ij 

cspus ds fy, ,d l;qDr lkgl esa 'kkfey gksrs gSA os ykHk&gkfu cjkcj ckVus ds fy, lger gksrs 

gSA A us ` 60000 ds ewY; dh 50 xkBs Hksth rFkk ` 1200 fofHkUu [kpksZa ds pqdk;sA B us ` 56000 

ewY; dh 50 xkBs Hksth rFkk ` 1000 fofo/k [kpZ pqdk;sA lHkh xkBs le; ij p.Mhx<+ igq¡p x;hA 

5 xkBs jkLrs esa [kjkc gks x;hA rFkk B blds nkos ds ` 5000 chek dEiuh ls olwy dj ldkA C 
us 'ks"k xkBs ` 130000 esa csp nhA mlus fczdh ij 5 izfr'kr deh'ku o vU; [kpkZ ds ` 1500 

dkVdj 'ks"k jkf'k ij A dks Hkst nhA Lej.kkFkZ l;qDr lkgl [kkrk cukb;s rFkk A dh iqLrdksa esa 

B [kkrk rFkk B dh iqLrdksa esa A dh [kkrk cukb;sA      

A of Ajmer and B of Agra entered into a Joint Venture to consign 100 bales to C at 

Chandigarh to be sold at their joint risk. They agree to share profit or loss equally. ‘A’ sent 

50 bales valued  ` 60, 000 and paid  `1200 for sundry expenses. ‘B’ sent 50 bales valued at  

` 56,000 and paid ` 1,000 sundry expenses.  

All the bales reached Chandigarh in time. However 5 bales were found damaged and ‘B’ 

could recover  ` 5,000 from insurance company for its claim. ‘C’ sold remaining bales for   

` 1,30,000. He remitted the balance amount to ‘A’ after deducting 5% commission on sale 

and ` 1,500 for other expenses. Prepare A’s account in the books of  B and B’s account in 

the books of A and Memorandum Joint Venture Account.     5 

20. lqjsUnz ,oa egsUnz 5%3 ds vuqikr esa ykHk ckaVrs gq, ,d QeZ esa lk>snkj gSA 31 fnlacj 2018 dks 

mudk fpVBk fuEu izdkj Fkk&  

Liabilities      Amount   Assets     Amount 

       `         ` 

Creditors    22,000  Cash     9,000 

Provision for Doubtful Debts  1,000  Debtors    12,000 

Bills Payable    18,000  Stock    25,000 

Investment Fluctuation Reserve 2,000  Investments   10,000 

General Reserve   16,000  Land & Buildings  55,000 

Capitals      Goodwill   8,000 

 Surendra 35,000 

 Mahendra 25,000  60,000 

     1,19,000     1,19,000  

1 tuojh 2019 dks vadqj dks lk>snkj cuk;k x;kA og iwath ds :i esa ` 20]000 yk;kA u;k 

vuqikr 3%3%2 gksxkA u;s lk>snkj ds izos’k ij fuEu fu.kZ; fy;s x;s % 1- QeZ dh [;kfr esa vadqj 
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dk fgLlk ` 10]000 r; fd;k x;kA og [;kfr dh jkf’k udn yk;kA 2- lqjsUnz us laiw.kZ fofu;ksx 

` 8]000 esa ys fy,A 3- lk>snkjksa ij Mwcr ,oa lafnX/k _.k ds fy;s vk;kstu ` 2]000 dk cuk;k 

tk,aA Hkwfe rFkk Hkou dk ewY;kadu ` 85]000 ij fd;k tk,A 4- LVkWd dk ewY;kadu ` 20]000 ij 

fd;k x;k gSA 5- ysunkjksa us ` 4]000 ds nkos dks NksM+ fn;kA 6- lHkh lk>snkjksa dh iwath dk 

lek;kstu u;s ykHk foHkktu vuqikr esa udn ls fd;k tk;sxkA iquewZY;kadu [kkrk] lk>snkjksa ds 

iwath [kkrs rFkk fpV~Bk cukb,A  

Surendra and Mahendra are partners in a firm sharing profits in the ratio of 5:3. Their 

Balance Sheet on 31st December, 2018 was as follows :  

Liabilities      Amount   Assets     Amount 

       `         ` 

Creditors    22,000  Cash     9,000 

Provision for Doubtful Debts  1,000  Debtors    12,000 

Bills Payable    18,000  Stock    25,000 

Investment Fluctuation Reserve 2,000  Investments   10,000 

General Reserve   16,000  Land & Buildings  55,000 

Capitals      Goodwill   8,000 

 Surendra 35,000 

 Mahendra 25,000  60,000 

     1,19,000     1,19,000  

On 1st January, 2019 Ankur was admitted as partner. He brought ` 20,000 as capital. New 

Ratio will be 3:3:2. On admission of new partner, following decisions were taken :  (i) 

Ankur’s share in firm’s goodwill was decided as ` 10,000. He brought, the amount of 

goodwill in cash. (ii) Surendra took all investments for  ` 8,000 (iii) A provision for Bad & 

Doubtful debts of  ` 2,000 is to be made on Debtors and Land & Buildings is to be valued at 

` 85,000 (iv) Stock is valued at ` 20,000 (v) Creditors have given up claim of ` 4,000. (vi) 

Adjustment of all partners’ capital is to be done out of cash in new profit sharing ratio. 

Prepare Revaluation Account and Capital Account and Balance Sheet of the new firm. 6 

OR 

,] ch o lh fuEufyf[kr lEifr;ksa ls 1 vizsy 2019 ls O;kikj pyk jgs FksA QuhZpj ` 18]000] 
e’khu ` 72]000] udn ` 10]000] nsunkj ` 20]000A mudh lk>snkjh dk fgLlk 5%3%2 FkkA mudh 

iwath dk Hkh ;gh vuqikr FkkA 30 flracj 2019 dks ch dh e`R;q gks tkrh gSA muds iq= us firk dh 

QeZ esa fgLlk ekaxk rFkk r; gqvk fd 1- mldh tekiwath tks mldh e`R;q ds fnu Fkh] og ns nh 

tk,A 2- mldh iwath ij 5 izfr’kr izfro"kZ dh nj ls C;kt fn;k tk,A 3- mlus izfrekg ds izkjEHk 

esa 600 dh nj ls vkgj.k fd;k gSA mlds ;g vkgj.k mlds ykHk ds fgLls ds fy, jgus fn;k 

tk,A 4- mlds vkgj.kksa ij 6 izfr’kr izfro"kZ ds fglkc ls C;kt yxsxkA 5- [;kfr dk ewY;kadu 

QeZ ds vkSlr ykHk] tks fd ` 21]000 gS] dk nqxquk vkadk tk;saA ch dk O;fDrxr [kkrk cukb,A 

   

A, B and C were carrying on business with the following assets with effect from 1-4-2019. 

Furniture ` 18,000, Machine ` 72,000, Cash ` 10,000, Debtors ` 20,000. Their profit sharing 

ratio was 5:3:2. Capital is also shared in the same ratio. B died on 30-9-2019. His son claimed 

his father’s interest in the firm. 
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The following was the settlement : (i) Allow his capital to his credit on the date death. (ii) 

Give 5% p.a.  interest on his capital. (iii) He had been drawings @ ` 600 per month, which 

he withdrew at the beginning of each month. He is allowed to retain these drawings as a part 

his share of profit. (iv) Interest @ 6% p.a. be charged on his drawings. (v) Goodwill was 

valued twice the average profit, which were ` 21,000. Prepare B’s personal Account. 6  

 

 

21. vxzlsu fy- us ` 10 okys  20]000 lerk va’k turk dks vkosnu gsrq izLrqr fd;s ftudk Hkqxrku 

fuEu izdkj ns; Fkk% vkosnu i= ij ` 3] vkoaVu ij ` 4 rFkk izFke ,oa vafre ekax ij 3A 41]000 

va’kksa ds fy, vkosnu i= izkIr gq,] vkoaVu fuEukuqlkj fd;k x;k& 3]000 va’kksa ds vkosndksa dks 

dksbZ vkoaVu ugha rFkk 10]000 va’kksa ds vkosndksa dks 'kr izfr’kr] 12]000 va’kksa ds vkosndksa dks 50 

izfr’kr rFkk 16]000 va’kksa ds vkosndksa dks 25 izfr’krA vkosnu ij izkIr vkf/kD; jkf’k dk mi;ksx 

caVu rFkk ekax jkf’k ds lek;kstu esa fd;k x;kA ftu vkosndks dks dksbZ va’k cafVr ugha fd;s x;s 

mudh vkosnu jkf’k ykSVk nh xbZA lHkh jkf’k;ka fu/kkZfjr le; ij olwy gks x;hA dEiuh dh 

iqLrdksa esa tuZy izfof"V;ka nhft,A       

 

Agrasen Ltd. offered 20,000 equity shares of  ` 10 each to public for subscription. On these, 

amount was payable as follows: ` 3 on Application,  ` 4 on Allotment and ` 3 on First and 

Final call. Applications were received for 41, 000 shares and allotment was made as follows: 

 Applicants of 3000 shares were allotted No shares; Applicants of 10, 000 shares were 

allotted 100 percent shares; Applicants of 12, 000 shares were allotted 50 percent shares; and 

Applicants of 16, 000 shares were allotted 25 percent shares. 

 Excess money received on application was adjusted on allotment and call. The 

applicants to whom No shares were allotted, application money was refunded. All money was 

received in time. Give journal entries in the books of the company.     6 

 

 

OR 

 

lrh'k fy- us ` 6]00]000 ds  8 izfr’kr _.ki=ksa dk fuxZeu fuEu izdkj fd;k& 1- ` 3]00]000 ds 

8 izfr’kr _.ki=ksa dks 20 izfr’kr izhfe;e ij udn ds fy,A 2- vuZo fy- ls ` 1]25]000 dk 

dEI;wvj [kjhnk] izfrQy Lo:i mldks ` 1]50]000 vafdr ewY; ds 8 izfr’kr _.ki= fuxZfer 

fd;sA 3- cSad ls ` 1]00]000 dk _.k fy;kA cSad ds ikl leikf’Zod izfrHkwfr ds :i esa ` 1]50]000 
ds 8 izfr’kr _.ki= tek djk;saA lrh’k fy- dh iqLrdksa esa tuZy izfof"V;ka nhft, ,oa fpV~Bk 

rS;kj dhft,A 

             

Satish Ltd. issued 8% Debentures of ` 6,00,000 as follows:  

 (i) 8% Debentures of  ` 3,00,000 at 20% Premium for cash. 

 (ii) A computer of ` 1,25,000 purchased from Arnav Ltd. for the consideration of it, 

issued 8% debentures with a nominal value of ` 1,50,000. 

 (iii) Taken a loan of ` 1,00,000 from bank. Deposited to the bank 8% Debentures of  ` 

1,50,000 as collateral security. Give journal entries in the books of Satish Ltd. and prepare 

Balance Sheet.            6
    

 

     Section : B 
 

 
 

22. rqyukRed fpÍs ls vki D;k le>rs gS \       

    What is meant by Comparative Balance Sheet?      1 
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23. LdU/k vkoZr vuqikr dk lw= crykb,A      

    Write formula of stock/inventory turnover ratio.      1  

 

fjDr LFkku dh iwfrZ djsa & 

 

24. ;fn ,d dEiuh dk ifjpkyu vuqikr 78% gS rks mldk ifjpkyu ykHk vuqikr ------------ gksxkA     

If operating ratio of a company is 78%, then operating profit ratio ………. will be.     1  

 

25. iz- 4 fuEu lwpukvksa ls O;kolkf;d fØ;kvkas ls vki dh izo`fr izfr'kr Kkr djksA o"kZ  

2014&2015 dks vk/kkj ekfu,  

o"kZ     2014-15       2015-16       2016-17      2017-18    2018-19 

'kq) fcdzh yk[kksa  (`) esa      20             25  28  35       40  

      

Calculate trend percentage of revenue from operations from the following information, 

assume 2014-15 as base 

Year     2014-15       2015-16       2016-17      2017-18    2018-19 

Net Sales in Laksh (`)     20   25  28  35  40 

            2 

 

26. fuEufyf[kr ifjfLFkfr;ksa esa pkyw vuqikrksa ,oa rjy vuqikrksa dk ifjdyu dhft,A  

  (a) Current Liabilities  ` 48,000 ; Inventory  ` 78,000; working capital  ` 96,000 

 (b) Working Capital  ` 40,000 ; Liquid Assets  ` 35,000; Stock ` 25,000; & Prepaid 

expenses ` 10,000 

          

Calculate Current Ratio and Liquid Ratio in following conditions : 

 (a) Current Liabilities  ` 48,000 ; Inventory  ` 78,000; working capital  ` 96,000 

 (b) Working Capital  ` 40,000 ; Liquid Assets  ` 35,000; Stock ` 25,000; & Prepaid 

expenses ` 10,000          4 

 

27. fuEukafdr lwpukvksa ls rqyukRed fpV~Bk rS;kj dhft,&  

 

 Particulars   Note No.  31 March 2018     31 March 2019 

 

    I. EQUITY AND LIABILITIES  

 1.  Shareholders’ Funds 

  (a) Share Capital     10,00,000  1,50,000 

  (b) Reserves and Surplus   5,00,000  6,00,000 

 2. Non-Current Liabilities 

  (a)  Long-term Borrowings   2,00,000  2,25,000 

 3. Current Liabilities  

  (a) Trade Payables    3,00,000  4,00,000 
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  Total      20,00,000  27,25,000 

  II.  ASSETS 

 1. Non-Current Assets 

  (a) Fixed Assets (Tangible)   15,00,000  20,00,000 

  (b) Intangible Assets    1,00,000  3,00,000 

 2. Current Assets 

  (a) Investment     2,00,000  4,00,000 

  (b) Cash and Cash Equivalents   2,00,000  25,000 

  Total      20,00,000  27,25,000 

             

From the following Balance Sheet prepare Comparative Balance Sheet.  

 

 Particulars   Note No.  31 March 2018     31 March 2019 

 

    I. EQUITY AND LIABILITIES  

 1.  Shareholders’ Funds 

  (a) Share Capital     10,00,000  1,50,000 

  (b) Reserves and Surplus   5,00,000  6,00,000 

 2. Non-Current Liabilities 

  (a)  Long-term Borrowings   2,00,000  2,25,000 

 3. Current Liabilities  

  (a) Trade Payables    3,00,000  4,00,000 

  Total      20,00,000  27,25,000 

  II.  ASSETS 

 1. Non-Current Assets 

  (a) Fixed Assets (Tangible)   15,00,000  20,00,000 

  (b) Intangible Assets    1,00,000  3,00,000 

 2. Current Assets 

  (a) Investment     2,00,000  4,00,000 

  (b) Cash and Cash Equivalents   2,00,000  25,000 

  Total      20,00,000  27,25,000 

            5   

28. fuEufy[kr lwpukvksa ls ,d dEiuh ds 31 ekpZ 2019 dks lekIr gksus okys o"kZ ds fy, ldy 

ykHk vuqikr] ifjpkyu ykHk vuqikr ,oa 'kq) ykHk vuqikr dk ifjdyu dhft,A 

izkjafHkd jsgfr;k ` 1]20]000 ] vafre jsgfr;k ` 2]00]000 ] dz; ` 8]40]000 ] etnwjh ` 56]000 ] 

vkod xkM+h HkkM+k ` 16]000 ] iz’kklfud O;; ` 96]000 ] fodz; ,oa forj.k O;; `1]12]000 ] e’khu 

ds fodz; ls ykHk ` 1]12]000 ] xSj ifjpkyu O;; ` 30]000 ] vk;dj ` 50]000 ] lapkyu fdz;kvksa 

ls vkxe `16]40]000 ] lapkyu fdz;kvksa ls vkxe okilh ` 40]000 A   

            

From the following information of a company calculate Gross profit ratio, operating profit 

ratio and net profit ratio for the year ended 31st March, 2019. 

Opening Inventory ` 1,20,000; Closing Inventory ` 2,00,000; Purchase ` 8,40,000; Wages ` 

56,000; Carriage Inward ` 16,000; Administrative Expenses ` 96,000; Selling & Distribution 

expenses ` 1,12,000; Profit on sale of machine ` 1,12,000; Non-Operating expenses ` 

30,000; Income Tax ` 50,000; Revenue from operations ` 16,40,000; Revenue from 

operations Return ` 40,000.              6 
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OR 

 

fuEufyf[kr lwpukvksa ls  

1- _.k lerk vuqikr  

2- LokfeRo vuqikr ,oa  

3- 'kks/ku {kerk vuqikr dh x.kuk dhft,%  

nh?kZdkyhu _.k ` 50]000 ] nh?kdkyhu vk;kstu ` 75]000 ] pkyw nkf;Ro ` 37]500 ] 

xSj pkyw lEifr;ka ` 2]70]000 ] pkyw lEifr;ka ` 67]500 A    

From the following information, calculate  

(i)  Debt-Equity Ratio 

(ii)  Proprietary Ratio 

(iii)  Solvency Ratio 

Long Term Borrowing ` 50,000; Long Term Provisions ` 75,000; Current Liabilities              

` 37,500; Non-Current Assets ` 2,70,000; Current Assets ` 67,500    6 

 

 

      OR 

   

      Section : B 
 

 
 

22. LizsM'khM D;k gS ?          

    What is spread Sheet?         1 

 

23. lsy ,oa jks fdls dgrs gS ?        

  

     What is a Cell and Row?         1  

  

fjDr LFkku dh iwfrZ djsa & 

 

24. LFkkbZâkl dh x.kuk djus ds fy, --------------------- QaD'ku dke esa fy;k tk;sxkA  

  

     Which function is used ………………….. to calculate depreciation.    1 

 

 25. dEI;wVj ds fofHkUu ?kVdks ds uke fyf[k,A        

     Describe different parts of the computer system.       2  

 

26. LiszM'khV dh izeq[k fo'ks"krkvkas esa 4 dk o.kZu dhft,A  

      Write any four characteristics of spreadsheet   

            4 

 

27. ekuoh; ys[kk iz.kkyh ,oa dEI;wVjhdr̀ ys[kk iz.kkyh esa vUrj Li"V dhft,A   

          

      Explain differences between manual accounting system and computerized accounting 

system.            5  
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28.  LizsM'khV dk ys[kkadu esa iz;ksx dh rhu fof/k;ka crykb,A            

      Write any three application for spreadsheet in accounting .          6  

  

OR 

 

 ,e-,l ,Dlsy LizsM'khV dk egRo ,oa iz;ksx Li"V dhft,A       
     Write importance and uses of MS Excel Spreadsheet.     6  
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